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QUESTION 1

A company is implementing a new e-commerce site that is expected to get seasonal and flash-sale induced traffic peaks
from all over the world. It is projected that a minute of downtime could cause excessive lost revenue. The company 

management wants to keep resource utilization to optimal levels without experiencing degradation to avoid introducing
bugs in the system. 

The Architect needs to choose between AEM 6.5 and AEM as Cloud Service. 

What are the two most critical non-functional requirements the Architect must consider? (Choose two.) 

A. Scalability 

B. Availability 

C. Reliability 

D. Maintainability 

E. Usability 

Correct Answer: AE 

 

QUESTION 2

During an optimization session, a client using AEM 6.5 mentions that they face challenges with their AEM Author setup.
The client has significant repository growth and can see an increased amount of TAR files in the segmentstore on disk.
When editors are working, they see that workflows take up more time. The purging of workflows works as expected.
Which two optimizations should an Architect suggest to took into and further investigate? (Choose two.) 

A. Leverage workflow offloading for all workflows 

B. Configure the Maximum Parallel Jobs 

C. Increase the maxFileSize of the TAR segmentstore 

D. Leverage Transient Workflows where possible 

E. Execute an offline tar compaction twice a day 

Correct Answer: BD 

 

QUESTION 3

A media company wants to use AEM as content hub for multiple customer touch points: 

1. 

Brand-specific marketing websites hosted on AEM Sites ?Single Page Applications using headless content 
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2. 

Native mobile applications 

3. 

Content offers in Adobe Target 

The company wants to manage its content efficiently with its small editor staff. Text should be entered and reviewed
only once, then reused for all touch points. 

How should an Architect incorporate these requirements into a solution that leverages AEM Sites features? 
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A. OptionA 

B. OptionB 

C. OptionC 

D. OptionD 

Correct Answer: D 

 

 

QUESTION 4

A client is in the discovery process for building a React native app, which is a single codebase that runs natively on iOS
and Android. The goal is to reduce development costs. The client wants to reduce content creation costs in the new
react Native app by reusing as much of the marketing content already publish in their AEM instance. 

What should the Architect recommend to meet this requirement? 

A. Experience Fragments 

B. OSGi Bundles 

C. Sling Resource Resolution 

D. Content Fragments 

Correct Answer: C 

 

QUESTION 5

A client\\'s site does not show the latest page content for some site visitors. The client has two data centers with each
configured with a Dispatcher connected to two Publish machines. The site load issue only occurs intermittently for
visitors from one of the data centers. 

Which step should the Architect take to resolve the issue? 

A. Disable caching on all impacted data centers Dispatchers to force the Publish machines to serve the page content 

B. Check the Publish instance(s) attached to the Dispatcher associated to the impacted data center 

C. Check the SSL certificate on the impacted data center\\'s load balance. 

D. Review the log files on the Author instances to determine if there are any template errors 

Correct Answer: C 
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